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Weak stationarity and invertibility can be checked by examining the roots of the lag polynomials of the AR and
MA parts of the model. (Weak) stationarity is equivalent to the roots of the AR lag polynomial being outside
the unit disk in the complex plane whereas invertibility is equivalent to the MA lag polynomial roots having the
aforementioned property. Some technical assumptions are needed to ensure the equivalences but they are not
important for this course.
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AR part: 1+ ZL =0« L= ~3 |L| = 3 > 1 = Process is stationary

MA part: 1 =L =0 <= L=1,|L| =1 = Process (1] is not invertible
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= Process is not stationary
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|L| > 1 = Process (2) is invertible
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AR part: 1 — EL4 =0 <= L* =16 We really only care about the modulus of the roots so

|L* = |L|* =16 <= |L| =2 > 1 = Process (3) is stationary (The roots are + 2, 42i)
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MA part: 1+ §L2 =0 = L[*= -1 = L= i§i’ |L| = 5> 1 = Process is invertible

Definition:

v L= Ry(k) = Covlwy, wpp] = El(w; — p) (211 — )] (4)

where p = E[z4] V ¢ is the shared expected value of the weakly stationary process.
Property (i):

7(0) = Var[z,] = E[(z¢ — 1)*] > E[0] =0



Property (ii): Covariance can be interpreted as an inner product in a certain vector space of random variables
(those with a finite second moment). Thus it satisfies the Cauchy-Schwarz inequality

)l < llallllyl] <= (2,9)* < (z,2){y,9) YV o,y (5)

where (-, -) is an inner product and || - || the norm induced by the inner product. Thus

v(k)? = Covizs, z¢_x)* < Covizs, z¢)Covlws_k, ¢_x] = Var[z,]Var[z;_i] = Var[z;]?
= [(k)] < ~(0)
where we used the fact that the variance of x; is constant across time.
Property (iii):
v(k) = Cov]zy, zi—k] = Covlri—k, x¢] = Covlze, Trys] = y(—Fk)

where we used the symmetry of covariance and the fact that the covariance of a stationary process depends only
on the lag between the time points.

5.3

The (conditional) expected value can be shown to be optimal in the sense of minimizing the mean squared prediction
error E[(.Tt.;,_s - £t+s)2‘xt7 Tt—1,y-- } Thus JA},H_S = jjt+s\t = E[$t+s|$t, Tt—1,-- ]
One-step prediction:

Ty = Elwgpa|a, .. .] = E[gr1wy + dowe1 + €41] - - ]
= ¢1E[$t| .. ] + ¢2E[$t_1| .. } + E[Gt_;'_l‘ .. ]

Note that the conditional expected value is linear just like the expected value. A couple of useful properties are
needed to proceed. The conditional expected value of a random variable when conditioned on itself is just the
original random variable. The conditional expected value of a random variable is just the expected value when it
and the random variables in the condition expression are independent. Thus

Top1)e = N1E[xe] . ] + G2E[wea|.. ] + Elerya] .. .| = ¢12e + dowi—1 + Eler41]
= 124 + Q2w (6)
Two-step prediction:
Trpo) = Elzeyolze, .. ] = G1E[zena] . ] + 2Bl .. ] = dr(dre + $awi—1) + d2we = (67 + 2) x4 + pr¢owe—1 (T)

Three-step prediction:

Typape = Elregs|ae, .. ] = ¢1E[xiga| .. ] + G2Elziqq] .. ]
= d1((¢F + d2)m¢ + d1d2we—1) + d2(d12¢ + Powi—1) = (¢} + 20102)w¢ + ($Td2 + ¢3) 41 (8)

From the expressions, we can observe that the general s-step prediction satisfies the following recursive identity.

Tpyslt = P1Tp— 144t + P2Tt 244t 9)

Hints for 5.4

Very similar to 5.1. Remember that we only care about whether the roots of the lag polynomials are outside the
unit disk or not.

Hints for 5.5

To figure out a general expression for the optimal s-step prediction, you can start by considering 1-step and 2-step
predictions and extrapolating from those. The properties of the conditional expected value mentioned in 5.3 will
be useful.



